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Po=9.81h
A B
Pg=9.81h;+Py—Hcg Py
PAa=9.81h+Py—Hcg - Hga
4 B
Pg=9.81h, +P
=1.0 Mpa =15 MPa =
=6 MPa 1.0 16 2.5~100 MPa

1.6Mpa 3.0 Mpa



B-6

B-7

™

pul

{ il

0.003

0.002

0.25m/s

B-7



Q----m’Is H----kPa Nz----kW N----%
N----rpm
Nz=Q*H/n
n 0.4~0.6 0.6~0.75
0.75~0.85
N =Ka™* Nz
Ka

Nz 10 | 1~2 2~5 5~10 10~25 25~60 60~100 100
Ka | 1.7 1.7~15 | 15~1.3 |13~1.25 | 1.25~1.15 | 1.15~1.1 | 1.1~1.08 | 1.08~1.05

Q----m’/s H----kPa
W=Q/[cp (Th-Ty]
W =n1*n2*Q/[cp (Th-Tg)]
m3/s
kw
4.19kJ/(kg. )

1000kg/m?

0.7~0.8

0.7~0.8

Hp = Hi + Hyg + Hiy

He=Hi+ Hg + Hp + Hs

kPa

kPa




H¢ -------- kPa

Hd -------- kPa
Hm """" kPa.
Hg -----—--- kPa
1.1~1.2
B-8
E%
O
B-8
B-8
1.0~1.2m/s
1.5~2.0m/s
20kW 100mm

100mm
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0.5m/s~0.8m/s
DN200~DN500
DN40
3
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B'lo ]
Vp=o* t*Vs mh
Vp-------
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DN100
4
DN100~DN250
DN15
5
10 14 20 Y
6

Pg=1.6MPa

DN600 ()

(GB8163-87

50

SYB/000443

3~6%

,  D219x6,

DN200

=0.8MPa

6~10

@219%x60 mm

Pz=1.0MPa

DN

DN200

D57

=175

I\



AHU

95%

400mm o= ()\/GWg) * [(TI - Tng) / (ng - TI)]
(d+d) * In(1+2S/d)= (A/wg) * [(Ti = Tng) / (Twg - T1)]

m

W/(m )
Wim ) 5.8~11.6

8.1
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